e Sampling of X

2

7\ . 7y _ 9° TSNS
Mean(X) = p Variance (X) = — Standard deviation(X) = 7=
e Distribution of X :
If population Normal or non-normal( n > 30)
— 0.2
X ~ Normal( W, — )
e Transform to Z or T (To use tables )
+ If 6 Known * If o unknown (use S instead), normal
_ X-u T = Xk
- a/\n - S/Nn
How to use T-Table : Jlaia¥) 4l 5 Al 48k
1)t0.95= ? (df=10) 1) P( T< K) =090, (df =5)
2) to_90= ? ( df =12) 2) P( T2 K) =0.95, (df =15)
3) toos=? (df=20)

3) P(T<2.110)=? (df=17)

4) tg10="7 (df=5) 4) P(T<2.718)=? (df=11)







